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HW — Hyperbolas- Day 2

Write an equation in standard form for each hyperbola.

A A
AN /
1) Foci at (0,6) and (0,-6); endpoints of conjugate axis (5,0) and (-5,0). /
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2) Foci at (8,0) and (-8,0); endpoints oﬁtraﬂsﬁerse axis (77,0) and (-7,0).
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3) Foci at (6, 0) and (-6,0); transverse axis length 8
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4) The endpoints of the tran{Jerse axis are (-3, 4) and (-3, 8) and of the conjugate axis are (-7,6) and
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5) State the location of the center, the length of the semi-transverse, and semi-conjugate axis, and
(V=37 _(+1f a5 b= 3

write in parametric form: >5 9
Cender (_’)5>
X= —[ + S +ant
Y= 3+ Ssect

6) Put the equation into standard form: 4x* —16y? +8x+128y-316=0
Hx*+8x ey +1284 = 310

4m_m<yz-gﬂ ()= 316+ 252
L/an) 5 -4)% = w

[)H/D(gq)’]

7) Put the equation into standard form: 9y?-25x* -36y-150x-414=0
Gu? -3ley —-35x* = 150x = 414
y’ ~Sley ~65x"=150x = 41
Glq™- 4y +4) - A5(x* 4 ox +9) =4I +3L -3a5

aly-2)* -a5(x+3)" = 235
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